No. \$233 H.P. Forest Department.

To

M/s Manimahesh Enterprises, H.No. 123/6 First Floor, Samkhetar Mandi, Distt. Mandi, H.P.

Dated Karsog, the 18-11-2024

Subject :-

Diversion of 0.7649 ha. of forst land in favour of M/s Manimahesh Enterprise, 123/6 Samkhetar Mandi, H.P. for the construction of 0.40 MW Small HEP at Bithri, within the jurisdiction of Karsog Forest Division, District Mandi, H.P.

KULANE KEBULIK MULI PERKENTIN DEFEMBERKATAK MENENGKIN PANE DE PERKENSI PENENGKIN PENENGKAN PENENGKAN PENENGKAN

Sir,

In continuation to this office letter No. 2342 dated 11-6-20218 and reference to your application dated 15-11-24 on the subject cited above.

2. Kindly refer to Govt. of India Ministry of Environment, Forest & Climate Change, Regional Office (North Central Zone) 25 Subhash Road, Dehradun letter No. 8B/HP/01/116/2017/213 dated 01.05.2018 in which Govt. of India has conveyed In-Principal approval for setting-up the above project. Before setting-up the above project you are requested to deposit the revised amount of CA, NPV & cost of trees etc. The detail of bill is given as under:-

Sr.	Detail of proposal	D' CO 7640 1 C C C 11 1 1 1 1				
1.1	Detail of proposal	Diversion of 0.7649 ha. of forest land i				
No.		favour of M/s Manimahesh Enterprise,				
	Berley British British (1987), 원생생생생생생생생,	123/6 Samkhetar Mandi, H.P. for the				
1 , 1 ,		construction of 0.40 MW Small HEP at				
i		Bithri.				
1	Distt./ Forest Division to which the	District Mandi, Karsog Forest Division.				
	proposal relates					
2	Name of User Agency	M/s Manimahesh Enterprise, 123/6				
i i		Samkhetar Mandi, H.P.				
3	Name of proposal	Construction of 0.40 MW Small HEP at				
	그렇는 그 그렇게 맞는데 이 그를 살아 됐다.	Bithri				
4	Extent of forest area proposed to be	0.7649 ha.				
1,000	diverted.					
5	Whether new or for additional land or	NA				
S 3	for renewal/ extension	[14] : [18] [14] [14] [15] [15] [15] [15] [15] [15]				
6	Date of Ist stage clearance	01.05.2018				

2. The amount of compensatory levies in respect of the mentioned above may be deposited in the following manner:-

I	Amount required to be deposited in Adhoo	c-CAMPA Accour	it being maintained by
1	Govt. of India.		it being maintained by
1 or 1	Cost of compensatory afforestation	Rs. 3,42,385/-	
7 1 1	(excluding 17.5% Departmental charges)	and the state	· 2000 3
	Cost of additional CA (excluding 17.5%	NA	
	Departmental charges)		
1 7	Cost of Penal Compensatory Afforestation	NA	INCOMMANDATA STATE OF THE STATE
1	(excluding 17.5% Departmental charges)		
	Cost of Catchment area treatment plan	NA	Maria Cara Cara Cara Cara Cara Cara Cara
110	Cost of Wildlife management plan	NA	AND A CONTROL OF THE PROPERTY

100	Net Present Value (NPV)	Rs. 7,68,885/-
	Cost the implementing the scheme for Safety	NA
	Zone Area in respect of mining cases.	
	Cost of implementing phased Reclamation	NA
	Plan of mining area.	
	Other charges, if any (* specify) 5%	Rs. 17,119/-
l.	contingency charges on CA & Penal CA.	
	Total	Rs. 11,28,389/-
П	Amount required to be deposited in the State	Govt. Treasury.
a)	Cost of trees	Rs. 4,97,113/-
b)	Departmental charges on CA @ 17.5% of	Rs. 59,917/-
	cost of CA	
c)	Departmental charges on Addl. CA @	NA
10011	17.5% of cost of Addl. CA	tike i de julijande program tiden in traktik and trakte skrive
d)	Departmental charges on Penal CA @	NA
	17.5% of cost of Penal CA	
	Total:-	Rs. 5,57,030/-
III	GST @18%	89,480/-
IV	Income Tax and surcharge on Income Tax.	NA

3. The compensatory lives mentioned above may be deposited strictly in accordance with the following guidelines:

(A) FOR AMOUNT (S) MENTIONED AT 2 (I) TO BE DEPOSITED IN ADHOC-CAMPA ACCOUNT

Name of Bank- Corporation Bank, Lodhi Complex Branch, New Delhi 520101263743531

i) The amount to be deposited in Adhoc CAMPA account has to be deposited through the e-payment portal such as online challan mode through RTGS and NEFT/ offline challan mode in Adhoc CAMPA account and such payment will not be accepted through any other mode.

ii) After depositing the amount of CA, NPV, etc. in Adhoc CAMPA account through RTGS, the UTR No. & date of each such transaction shall have to be provided to the forest Department for reference.

iii) While filling the RTGS form of the bank, the name of user agency shall be correctly filled in the relevant column and the name so filled shall be same as appearing in the proposal folder.

- > (B) FOR AMOUNT MENTIONED AT 2 (II) TO BE DEPOSITED IN STATE GOVT. TREASURY:- Amount due 17.05% Departmental charges on CA / Penal CA may be deposited in this office through cheque/ DD in favour of Divisional Forest Officer, Karsog Forest Division payable at (name of place).
- > For amount due towards GST, a separate cheque/ DD may be deposited in this office in favour of Divisional Forest Officer, Forest Division Karsog.
- > The point-wise compliance may also be submitted to this office for further necessary action please.
- > In case the NPV & CA rate enhanced by the Govt., the User Agency will pay the enhanced rate as applicable.

This is for favour of information and further necessary action please.

Yours faithfully,

Divisional Forest Officer, Karsog Forest Division, H.P SITE SPECIFIC COMPENSATORY AFFORESTATION SCHEME IN LIEU OF DIVERSION OF 0.7649 HAC. FOREST LAND FOR CONSTRUCTION OF MANIMAHESH ENTERPRISES HYDRO PROJECT AT BITHRI WITHIN THE JURIDICTION OF KARSOG FOREST DIVISION DISTRICT MANDI, HIMACHAL PRADESH COST ANALYASIS OF 1100 Nos. OF PLANTS OVER AN AREA OF 1 HACTORS

	PRADESH COST ANALYASIS OF 11	00 Nos.	OF PLAN	TS OVE	R AN AREA OF	1 HACTORS
	Name of Project				iction of Smal	HEP at Bithri
I. II	Name of User Agency	M/S Mai	M/S Manimahesh Enterprises, 123/6			
		Samkhe	etar Mandi			
€ III	Area for Compensatory Afforestati	Area for Compensatory Afforestation (in ha.)				
IV	Location for Compensatory Affore	station	1	D-136 P		
V	Type of fencing		L.	Barbad	Wire with RCC	Fence Posts
Sr No	Particulars of work	Particulars of work Total Quantity Unit Rate in Rs.				
A- FE	ENCING		t files	1 1.	32	/ *
4	1 Survey and demarcation of plantation area	A	1	Нас.	268	268.00
2	Preparation/ purchase of RCC Fence post (including GST @18%)		50	Nos.	450	22500
	Carriage of RCC fence post up to 165cm long over distance 2 Km uphill/ downhill	2		Nos.	150	15000.00
	Preparation of digging of holes 20x30x50 cm size			Nos.	24.16	1208.0
5	Fixing of RCC fence posts including strutting	d sign	Sur Y Car Y	Nos.	19.12	956.00
6	Carriage of Barbed wire over distance 2 Km	2	0.75	Qtls.	250	375.0
7	Stretching and fixing of Barbed Wire in 4 stands		600	Rmt.	12.8	7680
8	Interlacing of thorny bushes along the fence		150	Rmt.	10.91	1636.50
Ş	Cost of Barbed Wire (including GST)		0.9	Qtls.	8000	7200
		Total-A	/Survey, D	Demarcat	tion & Fencing	56823.50
		, i		*	Or Say	56800
B-	PLANTING	1)	B	
1	Bush cutting in strips (3mx3m)			Нас.	3180	
	Digging of pits 45x45x45 cm			Nos.	25.44	
3	Filling of pits 45x45xx45 cm		1100	Nos.	7.26	7986
		_	4400	LAIL TAX		1

	1	Bush cutting in strips (3mx3m)	-	1	Hac.	3180	3180.00
	2	Digging of pits 45x45x45 cm		1100	Nos.	25.44	27984
	3	Filling of pits 45x45xx45 cm		1100	Nos.	7.26	7986
1		Garriage of plants in P/bags over distance 2 Km uphill/ downhill from road side	2	, 1100	Nos.	6.6	14520
		Planting of entire plant raised in P/Bags		1100	Nos.	5.82	6402
		Construction of inspection path 60 cm width.	, j	100	Rmt.	29.32	2932.00

300	3000	1 20	L/S	h, :	7 Cost of sign board, carriage of
	A star of the star		9, 1	A STATE OF THE STA	plants from nursery to road side of
		100 mg/mg/ 100 mg/mg/ 100 mg/mg/	W.	and a gradient and	Plantation area through vehicle &
n 					loading and unloading of plants.
3630	33	Nos.	1100	4	8 Nursery cost of plants
10230	3/Planting:-	Total-E		1, 1	
10230	Or Say			1	
15910	Total(A +B)	Grand		7.5 750	
		TING UP)	(30% BEA	NANCE	1st YEAR MAINTE
4455.0	13.5	Nos.	330		1 Re-digging of pits 45x45x45 cm
2395.	7.26	Nos.	330		2 Filling of pits 45x45x45 cm
1920.	5.82	Nos.	330	The R	3 Planting of P. bag plants
4350	6.6	Nos.	330	2	4 Carriage P. Bag plants distance 2 Km uphill/ downhill
310	5.17	Rmt.	60		5 Repair of fencing
10890	33	Nos.		17.00	6 Nursery cost of plants
24327.0	intenance:	Ist Year Ma		to the Value	Transcry desired plants of the second
24350	Or Say		of a storm V		
1 3/1612		F-74 1.7471 1.7471	E (20% BE	TENANC	2nd YEAR MAIN
2970.0	13.5	Nos.		1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 Re-digging of pits 45x45x45 cm
1597.2	7.26	Nos.		- 10 / as (+Ω)	2 Filling of pits 45x45x45 cm
1280.4	5.82	Nos.	220	To The second	3 Planting of P. bag plants
2904	6.6	Nos.	220	2	4 Carriage P. Bag plants distance 2 Km uphill
310	5.17	Rmt.	60	P. T. T. Carrier	5 Repair of fencing
7260	33	Nos.	220		6 Nursery cost of plants
1632	intenance:	nd Year Ma	Total/2		
1635	Or Say			Section 1	
form	BEATING UP)	ANCE (10%	MAINTENA	h YEAR	3rd YEAR to 10t
1485.0	13.5		110		1 Re-digging of pits 45x45x45 cm
798.6	7.26	Nos.	110	ega strate	2 Filling of pits 45x45x45 cm
640.2	5.82	Nos.	110	\$25,000,0	3 Planting of P. bag plants
		Nos.	110	2	4 Carriage P. Bag plants distance 2
1452	6.6	The state of the s		11 10	النطوية والتحال
1452		Rmt.	60		Km uphill
310	5.17 33	Rmt.		agerga Miller (n. 1871) 14 an - Harris Magal 15 an Anna Barris 18 an - Anna Barris	5 Repair of fencing
	5.17		60		

Divisional Forest Officer, Karsog Forest Division,HP. GENERAL ABSTRACT COMPENSATORY AFFORESTATION OF AREA 0.7649 HA. IN FAVOUR OF M/S MANIMAHESH ENTERPRISES, 123/6 SAMKHETAR MANDI, HP FOR CONSTRUCTION OF 0.40 MW SMALL HEP AT BITHRI UNDER KARSOG FOREST DIVISION, DISTRICT MANDI, H.P.

C A BILL								
Sr. No.	Particulars	Area in ha.	Year	Rate per	Cost escalation	Rate after applying cost	Amount	
					i de la martina	of escalation	,	
Comp	ensatory Afforestation	70 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0				1		
1	New plantation over in area of 1 ha.		2025-26	159100	10%	175010	175010	
2	1st year maintenance	1 1	2026-27	24350	20%	29220	29220	
3 1	2nd year maintenance	1	2027-28	16350	30%	21255	21255	
4	3rd year maintenance	11	2028-29	8350	40%	11690	11690	
5	4th year maintenance	1	2029-30	8350	50%	12525	12525	
6	5th year maintenance	1 1	2030-31	8350	60%	13360	13360	
7	6th year maintenance	1. 1/2	2031-32	8350	70%	14195	14199	
8	7th year maintenance	1 1	2032-33	8350	80%	15030	15030	
9	8th year maintenance	1	2033-34	8350	90%	15865	15865	
10	9th year maintenance	# 1 1 C	2034-35	8350	100%	16700	16700	
11	10th year maintenance	1 1	2035-36	8350	110%	17535	17535	
at any		Tota	l initial pla	anting and	l 10 year ma	aintenance:-	342385	
*)			Added [Departme	ntal Charg	es @17.5%	59917	
		a terrata Kal	he has provided			arges @5%	17119	
						Grand Total	419421	

Divisional Forest Officer, Karsog Forest Division, HP. Full Title of Project: - Construction of Manimahesh Enterprise Hydro Project

File No :- FP/HP/HYD/14396/2015

BILL FOR NPV

Calculation of Net Present Value of Forest Land to be diverted under FCA, 1980 for construction of **Manimahesh Enterprise Hydro Project** under Karsog Forest Division District Mandi, Himachal Pradesh is as under:-

Area to be diverted

= 0.7649 ha.

Density of vegetation

= Open forest.

Rate applicable class Vth of NPV

= 10,05,210/- per hac.

NPV chargeable for 0.7649 ha.

= 7,68,885/- only.

Divisional Forest Officer, Karsog Forest Division, H.P. Enumeration list of trees for purpose land for construction of small hydro project(0.40)MW at Bithri in D 30Mandi Begli forest in Machrot beat Kutwachi block Pangana range for the month of 3/2/2017 as under:

.No.	Speaces	Dia	The state of the s	Class	Remarks
	Devdar	33/37	to the total angle to per which	111	Green Standing
in rusianie	Devdar	33/34	The state of the s	ال	Green Standing
3	Devdar	32/34	the contract of the contract o	Ш	Green Standing
1	Devdar	34/35		111	Green Standing
5	Kial	37/38	1 (1)	111	Green Standing
5	Devdar	14/15		V	Green Standing
7	Devdar	12/14		V 33. 20 p 10	Green Standing
8	Chil	20/22	AV. 1 . 1	IV	Green Standing
9	Devdar	13/14		V	Green Standing
10	Chil	26/27		IV	Green Standing
11	Chil	21/22		IV	Green Standing
12	Chil	60/65		IA.	Green Standing
13	Chil	25/26		IV	Green Standing
14	Chil	21/22		Van Rocking	Green Standing
15	Chil	28/29	The second second	IV	Green Standing
16	Chil	29/30		IV /	Green Standing
17	Chil	31/32			Green Standing
18	Chil	29/30		IV	Green Standing
19	Chil	15/16	1748年137月 1876	V	Green Standing
	-	27			
		Abstract			
S.NO.	Species	V		IIA	Total
1	Devdar	3	4		7. 7. 10. 10. 10. 10. 10. 10. 10. 10. 10. 10
	Volume	0.168	3.024	1-10 May 19	3.192
2	Kail		1		
	Volume		0.590		0.590
3	Chil	1 8	1	11	11
	Volume	0.50 0.88	30 0.280	0.730	1.924 1.940
	G.Total	4 8	6	1	19
	Volume	0.218 0.88	0 3.894	0,730	5.722

hot Row

BO Esq.

IN CREE

Divisional Forest Officer,
Karsog Forest Division (H.P.

Sr. No.	Name of	Nos. of	Volume	Rate	Amount	
	species	Trees	•			
1	Deodar	7	3.192	84,683	270308	
	Sappling	0	w 0	0	0 .	
2	Kail	1 m	0.59	73,081	43118	
	Sappling	0	0	0	0	
3	Chil	11	1.94	55,596	107856	
	Sappling	0	0	0	0	
	Total:	19	5.722	A	421282	
	, otali			GST @ 18%	75831	
		Grand Total	• 1 100 0 10 10	6	497113	

Divisional Forest Officer, Karsog Forest Division.H.P.